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Answer the following:


1. Write dissociation equations to represent the equilibrium present for a saturated solution of each ionic compound.

a. NaCl		____________________________________________________________________

b. Al2O3	____________________________________________________________________

2. What is the concentration of each ion in the solution formed when 94.5 g of nickel (III) sulphate is dissolved into 850.0 mL of water?

3. 

Answers:

1. Write dissociation equations to represent the equilibrium present for a saturated solution of each ionic compound.
[image: ]
a. NaCl		NaCl(s)  Na+(aq)  + Cl-(aq)  
[image: ]
b. Al2O3	Al2O3(s)   2Al+3(aq)  + 3O-2(aq)  

2. What is the concentration of each ion in the solution formed when 94.5 g of nickel (III) sulphate is dissolved into 850.0 mL of water?
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94.5g
0.850L



Ni2 SO4( )3 x
1mol



405.7g
= 0.2740 M



Ni2 SO4( )3! 2Ni3+ +  3SO4
2−



0.274 M 0.548M 0.822M



Ni3+⎡⎣ ⎤⎦ = 0.548 M ,  SO4
2−⎡⎣ ⎤⎦ = 0.822 M
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Answer the following: 5

1. Wit dissociation cquation 0 represent theequilibram present for a saturted souton f ach onic

compound.
a Nact

b ALO,

2. What s the concetruton of sch on i the soltion fomed when 94.5 ¢ of ikl (1) slphae s

disolved o $50.0 mL of water?



